XDTM VA
B R T 5 T HANSAVFLEX

R o =l
01 KB BT : swo =M=
BHER 1 EHEIDIR i O
BO2+3  KAABSERK N
BEFR2+3 20°0% 3 (-
e Es B TR = =
ERHR H i T st
A ISO 8434-1 ! =

| BE(THHERS AR ‘;f

[T TN - T

®’R

BxEE A, EHAREAATN TERENHNEESH SR EENERES.

# @

SR é'ﬂfh_zj]

XDTM NW 04 HLVA L PN 160 6 M10x1 14,0 8 24 12 12,0 19 18 6 6
XDTM NW 06 HL VA L PN 160 8 M12x15 17,0 12 27 14 13,0 20 20 6 6
XDTM NWO08 HLVA L PN 100 10 M14x15 19,0 12 30 15 15,0 22 22 8 8
XDTM NW10HLVA L PN 100 12 M16x15 21,0 12 36 18 17,5 24 27 10 10
XDTM NW 13 HLVA L PN 100 15 M18x15 23,0 12 39 19 20,0 27 30 12 12
XDTMNW 16 HLVA L PN 100 18 M22x15 27,0 14 41 20 20,5 28 32 14 14
XDTM NW20HLVA L PN 100 22 M26x15 31,0 16 46 22 24,5 32 36 17 17
XDTM NW25 HLVA L PN 100 28 M33x2 39,0 18 58 29 29,5 37 46 22 22
XDTMNW 32 HLVA L PN 63 35 M42x2 49,0 20 69 33 33,0 44 55 27 27
XDTM NW40HLVA L PN 63 42 M48 x 2 55,0 22 84 41 40,0 51 65 32 32
SZHURFLLL=FER =B S=E - PN=FEESN PB=RAIFEEN - 0d2=EHNER

FRER
XDTM  EHRRRERE TR, T, BE(CTHHERSAER)
DTM VA E#XRiERE THR.TH, #HRRSNNATN EE

RELZI T FAFH BB ETEHBRR EERY TTRE X TR BB 15 B BAEAR L AT RIDHE I F Ao
27.12.2024 HANSA-FLEX AG www.hansa-flex.com 1



